
FBM#1 – REVIEW  

Using a property from algebra, justify the following statements. 

 
1. LM = LM 

2. If 𝒎 < 𝑨 = 𝒎 < 𝑩 and 𝒎 < 𝑩 = 𝒎 < 𝑪, then 𝒎 < 𝑨 = 𝒎 < 𝑪. 

3. 𝟐(𝒙 + 𝟓) = 𝟐𝒙 + 𝟏𝟎 

4. If x = 10 and 3x = y, then 30 = y. 

5. If x = 9, then 9 = x. 

6. If 8x = 80, then x = 10. 

7. If 𝒙 =  𝒚, then 𝒙 – 𝟑 = 𝒚 – 𝟑. 
 
8. ∠𝑪𝑨𝑻 ≅  ∠𝑻𝑨𝑪 

 
9. If x = 10, then x + 5 = 10 + 5 

 
10. If 6x = 8, then 12x = 16 

 
 
 
 

11. Given:  ∆GEO ≅ ∆MTR.  You can conclude that: 
a. ∠𝑶 ≅  ∠𝑻 b.   𝑬𝑮̅̅ ̅̅  ≅ 𝑻𝑴̅̅ ̅̅ ̅ c.   ∠𝑶𝑮𝑬 ≅  ∠𝑴𝑹𝑻 d.   𝑹𝑴̅̅ ̅̅ ̅  ≅ 𝑶𝑮̅̅ ̅̅  e.   𝑮𝑬̅̅ ̅̅  ≅ 𝑴𝑻̅̅ ̅̅ ̅ 

 

12. Given:  ∆ RGA and ∆PMC with  𝑹𝑮̅̅ ̅̅ ̅  ≅ 𝑷𝑪̅̅ ̅̅ , ∠𝑨 ≅  ∠𝑴, and ∠𝑮 ≅  ∠𝑷.  Which method could be used to prove 
that ∆ RGA ≅ ∆PMC? 

b. SSS b.   SAS        c.   AAS       d.   ASA     e.   Not enough information for a proof. 

 

 

 

13. The measures of the angles of a triangle are 2x + 10, 3x and 8x – 25.  Solve for x. 

 

 

 

 

14. If ∆TAR ≅ ∆DEW, the ∠𝑨 ≅ ______, 𝑹𝑻̅̅ ̅̅ ≅ _______, and ∆ART ≅ __________. 

 
15. Give the image points of the line segment ∆𝑨𝑩𝑪,  which of the following would result in similar figures? 

A(-3, 7)    B(4, 2)   C(0, 5) 
 
a. A’ (-3, -7)   B’(4, -2)    C’(0, -5) 
b. A’ (7, -3)    B’(2, 4)     C’(5, 0) 
c. A’ (-1, 6)    B’(6, 1)     C’(2, 4) 
d. A’ (-6, 14)   B’(8, 4)    C’(0, 10) 

 
 
 



For problems 16 – 21:  Determine if the triangles are congruent. MARK your diagrams!  If so, write a congruency 
statement AND state the method of proving them congruent.  If not, write “no congruence”. 

16.     17.     18.     
 
 

19.   20.  21.  
          Given: 𝑨𝑴 ⊥ 𝑿𝒀, AX=AY 

 
 
 

 
 
For problems 22-24, find the value of x or y.  
 

22.   23.    24.  
 
 
 

 

25.   Given:  N is the midpoint of 𝑴𝑷̅̅ ̅̅ ̅,    𝑳𝑴̅̅̅̅̅ ∥ 𝑶𝑷̅̅ ̅̅  
                 Prove: ∆𝑳𝑵𝑴 ≅ ∆𝑶𝑵𝑷 

 
 
 
 
 
 
 
 
 
 



 

      26.   Given:  𝑨𝑩 ∥ 𝑪𝑫, 𝑨𝑪 ∥ 𝑩𝑫 
               Prove:  𝑨𝑩̅̅ ̅̅  ≅ 𝑪𝑫̅̅ ̅̅  
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

27. Given that line t is the perpendicular bisector of 𝑱𝑲̅̅̅̅  and GK = 9.73, find GJ 

 
28. Given that line t is the perpendicular bisector of 𝑱𝑲̅̅̅̅ , JG = 2x + 7 and KG = 5x – 

17, find KG 

 
 
 

29. Given that GJ = 70.2, HK = 17.5, and GK = 70.2, find JK. 
 

 

30. Given that line t is the perpendicular bisector of 𝑱𝑲̅̅̅̅  , If JH = 2x-1 , GJ = 4x-2 
and GK = 2x+10, find JH 

 

                 
                                

 

 

 

 

31. Given that 𝒎∠𝑹𝑺𝑸 = 𝒎∠𝑻𝑺𝑸 and TQ = 1.3, find QR 

 

32. Given that 𝒎∠𝑹𝑺𝑸 = 𝟓𝟖°, RQ = 49 and TQ = 49, find 𝒎∠𝑹𝑺𝑻 

 
 

33. Given that RQ = TQ, 𝒎∠𝑸𝑺𝑹 = (𝟐𝒂 + 𝟒𝟖)° and          

𝒎∠𝑸𝑺𝑻 = (𝟔𝒂 + 𝟒𝟎)°, find 𝒎∠𝑹𝑺𝑻 

                        

 

 

 

 



 
34. HI = ?   37)  DF = ? 

 
35. GE = ?   38)  m < HIF = ? 

 
36. m < HGD = ?  39)  m < D = ? 

 
 

40) Solve for x 

 

 

 

 

 

 

If m∠A = 2x + 4, m∠B = 7x – 1 and m∠C = 2x + 9, find measure of angles 

A, B, C, and D 
A 

C 

D 

B 



 

 

  

 



 

Draw and label an isosceles triangle 

 

 

 

 

If a triangle is equilateral, it is also ________________________. This means that each angle is ______________ 

degrees. 

 

IF DE is the midsegment of Triangle ABC, list everything you know about the above diagram. 

 

 



 

 

 



 

 

 


